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I. 

 

FILL IN THE BLANKS.                                                              ( 5 Marks ) 

 

a. 
 

The place value of 7 in 2127 is ___________ 

 

b. 
 

The greatest 4 digit number is   ____________ 

 

c. 
 

The successor of 4356 is  ___________ 

 

d. 

 

7070 ________  7700  ( insert > , < , = ) 

 

e. 
 

4321 -  _____    = 4321   

 

f. 
 

1089 – 1089 =   ________ 

 

g. 
 

8 x 4 =  __________ 

 

h. 
 

350 x 5 = 5 x  _________ 

 

i. 

 
 

45 x 2 = ___________ 

 

j. 
 

The product of a number and zero is  ________ 

 

 

           20 



 

II. 
 

Do as directed.                                                                        ( 1 Mark each) 

a. Write the place value of the underlined digit.                                     

   7 9 9 ________________________ 

 

b. 

Write the following in ascending order.                                              

     6006,     6000,      6600,      6060 

     ________________________________________________ 

c. Write the following in descending order.                                            

    835,     5830,      3085,       8035 

   

    ____________________________________________________ 

 

III.  Subtract.                                                                                                 ( 4 Marks )                    

a. 3350 from 8576                                                     b.     2353 from 8765 

  

  

  

  

  

 

c.     2158 from 3247                                                     d.     2975 from 6754 

  

  

  

  

  

 



IV. Multiply.                                                                                                     ( 4 Marks )             
 

a. Multiply 3240 by 3                                         b. Multiply 515 by 19 

  

  

  

  

  
 

c. Multiply 2341 by 6                                          d.Multiply 209  by 34 

  

  

  

  

  

 

V. Solve the given word problems.                                                                (4 Marks) 

 

1. There are 5954 children in a park. 3051 of them are girls. How many boys are there 

in the park? 

 

 

 

 

 

 
 

2. There are 200 crayons in a box. How many crayons are there in 5 such boxes? 

 

 

 

 

 

    

    

    

    

    

    

    

    


